Anti-vibration Supports

]

actuation

)]

qh@

Iz
- -
dl

—

Tips
Eliminates workpiece chatter and vibration
during machining.

Easy to actuate; locate and fix beneath
workpiece, turn actuation handle and
spring loaded support will come into

contact with workpiece. Lock handle to set
support.

Order No. Support height

SUPPORTS & STOPS

11090.W0060 28 45 6 56 20
support bar support bar
11086.00045 11086.00045
| |
e
place the support under the workpiece and turn actuation
until contact is made, continue to turn o set support height
o) . ® .
R Wixroyd 0333 207 4497 sales@wixroyd.com 1
AN ESSENTRA COMPANY



Sd01S '8 S140ddNS

Clamping Devices
self locking - actima

o= i S
Material locking occurs in any position. Maximum ting: via six M 6 x 9 threaded holes on its
Individual parts: steel, blackened. clamping force allowed 4,9 kN. base.
Ball knob: duroplast (PF 31) DIN 7708, red. = Through Axle Type: .
. . . Tips
Housing: thermoplastic, black. Due to the cam axle running across the .
o . A compact clamping element for pull and
Additional parts: steel, blackened. diameter of the pressure sleeve, depth of . .
e push clamping which can be actuated by
. the pressure sleeve is limited to 31mm. . .
Technical Notes turning the tension cam.
Through Hole Type: .
Travel path/movement of approach 10mm, . .. Used with:
. . . Depth of the pressure sleeve is not limited . .
during which no clamping takes place. - 12540.W0042 - W0046 Clamping devices.
L . and is equal to equal to 45,5mm. Moun-
Within the quick clamp travel of 2mm, self-
Order No. Type Description Clamping force Weight
kN g
max.
12540.W0002 Through axle Right push/left pull 49 751
12540.W0004 Through axle Left push/right pull 4.9 749
12540.W0012 Through axle Right push/left pull 49 745
12540.W0014 Through axle Left push/right pull 4.9 750
12540.W0042 Accessories Disc - 270
12540.W0044 Accessories Taper - 85
12540.W0046 Accessories Vee-block - 82
o . )
2 h‘? Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Supporting Elements

max. 8 kN,
supporting force

o

M12

2 x M6

78-83

Qo

supporting height

-
13 13
@494 T
base view
M12 DIN 913

(interchangeable)

SUPPORTS & STOPS

12680

Material

Body: steel case-hardened, nitrided,
blackened and ground.

Housing: aluminium, red anodised.

Technical Notes

Used to support over determined clamping
points, whilst minimising deformation of
component. It also reduces vibration
during machining.

By tuning on the lock function (max. 180°
at 15Nm), the clamping mechanism locks
the support pin without moving. The
support element has supported the work-
piece and is locked in place.

Fix the support element (2x M6 thread)
onto the device. Ensure the key activation
isin required orientation.

Alternatively: Dismantle the M12 x 10
threaded pin and replace it by an M12x 30
threaded pin and assemble the support
element with a spanner (A/F 21), e.g for T-
slot mounting (no pin M12x 30 and T-nut
24000 M12x 14, grade 10, are parts of the
standard supply volume. The support
element can be recessed into a hole max.
16mm deep.

Operation:

By turning the clamping cam (A/F 6
internal hexagon) on the outer surface of

load.

1. By turning on (15Nm) as far as possible
(lock), total of 180°, the clamping
mechanism locks the support pin withot
moving. The support element has been
placed onto the workpiece and locked.

2. If turned in the opposite directions
(unlock), the clamping is released. If
turned back as far as possible, i.e. total of
180° the support pin moves to the end
position.

Tips the re protective sleeve, the support pin
Assembly: contacts the workpiece wih a slight spring
Order No. Description Stroke Supporting force Weight
kN g
max.
12680.W0400 Support Element 5 8 950
o . s )
R Wixroyd 0333 207 4497 sales@wixroyd.com 3

AN ESSENTRA COMPANY



Supporting Elements

Sd01S '8 S140ddNS

4 é-“ Wixroyd wixroyd.com

AN ESSENTRA COMPANY



Wedge Blocks

heavy duty positioning

d‘I
—
i A
I'\ I | ©
ha hs hy E
i o3
min. max. ﬂ
\ 2
vory g 15500 =
- - A
AF
] -
Wy
Material load, adjustment is easily made with a turn and machining of large components on
Spheroidal graphite, castiron. of screw. Allows fine adjustment to 0.1mm. heavy duty machines. If necessary, an
Heat treated and burnished. See technical pages for the table of loca- additional @12mm locating hole in the
Contact surfaces precision machined. ting pad and support pad elements compa- base allows the wedge blocks to be
Technical Notes tibility. located.
Centering hole @12mm. Tips
With loads up to 33% of the max. static Particularly useful for precise positioning
Order No. Size  w, h, h, h, d, hy N Static load  w, A/F Adj/360°  Weight
min. max. kN g
max.
15500.W0006 63 63 80 50 68 12 7 63 40 40 13 0.86 1700
15500.wW0012 125 115 135 100 125 12 20 125 100 60 24 1.16 8600
15500.W0016 190 145 200 170 190 12 20 175 250 80 36 2.02 23750
000y,
ﬁ.) ) P '
(R N NN NN EN AN
o . . )
h‘) Wixroyd 0333 207 4497 sales@wixroyd.com 5
AN ESSENTRA COMPANY



Sd01S '8 S140ddNS

Workpiece Supports

for support and to prevent workpiece chatter

17000

. ®1 17000.W0085

and W0170

Material

Support: steel, case-hardened and ground.

Grip: die-cast zinc.

Technical Notes
Used as support beneath workpieces to
prevent chatter and vibration.

The supporting pinis applied with spring
pressure to the workpiece and can be
clamped in any desired position without
the need to reach under the workpiece.

Tips
Additional support to a three-point fixed

support. Threaded studs or levelling pads
can be screwed into the female thread to
set the required height.

Sizes .W0085 to W0170 have only one slot.
17000.W0450 is fitted with axial bearing
clamping lever 74470.W0210.

Order No. Wy hy
17000.W0085 8.5 19.5
17000.W0150 13.0 24.0
17000.W0170 17.0 34.0
17000.W0300 13.0 24.0
17000.W0450 25.0 40.0

Order No. I3 Iy Ig
17000.W0085 13 - 13
17000.W0150 20 - 17
17000.W0170 25 - 27
17000.W0300 30 160 17
17000.W0450 30 200 30

6 i'ﬁ Wixroyd
AN ESSENTRA COMPANY

h, d, d, Handle e, I I, Weight
g

11.5 M8 13 M 6x18 75 35 342
14.0 M10 20 M 8x22 150 90 1159
215 M16 26 M12x30 170 100 2534
14.0 M10 20 M 8x22 300 100 2153
25.0 M20 32 M10x25 387 110 7300

Load capacity
le I r kN Stroke s, W, W
max.

62 5 - 0.5 3 30 10
74 = 15 2.5 6 50 25
108 11 - 5.0 11 60 20
74 = 15 2.5 6 50 25
89 - 24 10.0 11 85 40

wixroyd.com




Workpiece Supports

for support and to prevent workpiece chatter

SUPPORTS & STOPS

M Wixroud 0333 207 4497 sales@wixroyd.com 7

AN ESSENTRA COMPANY



Sd01S '8 S140ddNS

Compact Work Supports

with cam handle

17002

» unlocking position
i 2u=

locking arc

~ ~
./'/J
» . -

-

A jocking arc
20°
locking position
the handle position varies

depending on the height
of the paston

unloching positian

clockwise locking anti-clockwise locking

5 dy S
3% S P g 18]
S ——

i 7
W P (X Py

s sl
L S - ﬁ%’//
‘ - -
&% -

1,
h ! drill a tapped hole
and a locating-pin hole

mounging hole dimension

Material
Body and pin: steel (S45C), black oxide

Piston: steel, black oxide finish, HRc 50-
55. Cam handle: zinc die-cast, chrome

Technical Notes
The builtin disc spring prevent release.

finish. plated.
Order No. Wy h, h, d; d, d, d, hy h, hg Weight
+0.31-0 g
17002.wW0018 14 18 8 6 10 5.5 10 6.0 145 10 76
17002.wW0118 14 18 8 6 10 5.5 10 6.0 145 10 76
17002.W0025 18 25 10 10 14 5.5 14 9.5 18.5 13 140
17002.W0125 18 25 10 10 14 5.5 14 9.5 18.5 13 140
Hlaméle Locking d Lock Piston spring Strok Support
oa ocking direc- ocking troke capacity
Order No. he h, N I Iy I3 Iy r tion mechanism fo'(lce 5,
max. max.
17002.wW0018 5 7.0 80 435 195 12 12 39 Clockwise Spiral cam, 4° 1,5-3 3 200
17002.wW0118 5 7.0 80 435 195 12 12 39 Anticlockwise Spiral cam, 4° 1,5-3 3 200
17002.W0025 5 105 100 504 224 14 14 50 Clockwise Spiral cam, 4° 1,8-3 4 400
17002.W0125 5 105 100 504 224 14 14 50 Anticlockwise Spiral cam, 4° 1,8-3 4 400
o . . .
8 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY




Compact Work Supports

with cam handle

operating instruction

SUPPORTS & STOPS

1.unlocked 2 workpiece loading 3.locking
ne workpiece loaded Ioad a workpiece and turn the handle to
the piston lowers lock the piston

M Wixroud 0333 207 4497 sales@wixroyd.com 9

AN ESSENTRA COMPANY



Sd01S '8 S140ddNS

Cam Action Work Support

17003

air outiet

!
- 2

-
- j==1]
LI -—— L

—
rL]
oo
se

—2

-

unlacking pasition

4. recommended lacking position
nate: the drawing shows
' clockwise rotation for locking
.

locking end

Material

Body: steel (S45C), black oxide finish.
Piston: steel (SK95), tempered and black
oxide finish.

Locking pin: steel (545C), tempered and
black oxide finish.

Handle: steel (SCM440), tempered and
black oxide finish.

Technical Notes
The builtin disc spring prevent loosened
locking.

Tips
When you attach a support pad to the
tapped hole through the shaft, lock the

shaftin place to prevent damage on instal-
lation. To change locking direction loosen
set screw, remove retaining pin, invert
handle and reassemble.

Order No. Capacity w,
kN
max.
17003.w0024 0.5 25
17003.wW0029 0.7 30
17003.w0037 0.9 38
17003.W0042 1.2 45
Order No. I I3 l,
17003.W0024 36 8 8
17003.wW0029 39 9.5 10
17003.w0037 51 12 12
17003.W0042 56 14.5 15
10 bﬂ Wixroyd
AN ESSENTRA COMPANY

hl h2 dl d2 d3
24 19 10 M 5x8 M 4
29 22 12 M 6x10 M 5
37 25 16 M 8x15 M 6
42 30 19 M10x15 M8
r Locking mechanism Piston sp'\viing force
40 Spiral cam, 4° 0-6
50 Spiral cam, 4° 0-6
63 Spiral cam, 4° 0-7
80 Spiral cam, 4° 0-11

wixroyd.com

hs hy I Weight
g
14 14 52 213
18 16 58 335
23 19 75 738
26 24 85 1110
Stroke s, w, Allowable r,\llandle load
5 15 30
6 18 100
8 24 150
10 28 200




Cam Action Work Support

SUPPORTS & STOPS

spring

M Wixroud 0333 207 4497 sales@wixroyd.com 11

AN ESSENTRA COMPANY



Extendable Workpiece Locators

arc

dg cap screws o=y "
retracted 180 .

extended

S
3
E — |‘ -
0 dy
%) s, ™ F - -_d.n = g, h::. slockal
o 3 ead set screw
] 1 7 004 ° 1 i '
A
nloA
hy
L |
hy
A
Material steel or castiron. No tools needed. The extended or retracted until the handleis
Body and piston: steel (545C), tempered handle position is freely adjustable. The operated again.
and black oxide finish. handle can be easily changed to actin a
Crank shaft: steel (S45C), black oxide clockwise or anti clockwise direction. Diffe-
finish. rent locating pins can be mounted depen-
. i kpiece’ ing holes. Th
g s g e T
Can support heavy workpieces made from P y y
Order No. hy h, d; d, d; d, ds dg d, dg Weight
tol. g6 tol. G7 g
17004.W0008 48 12 50 28 20 8 38 M 5 M 4x5 M 6x12 590
17004.W0012 61 14 65 42 30 12 52 M 6 M 5x8 M 8x7 1310
Workpiece weight
All ble handle load
Order No. hs h, hg he Iy r Stroke s, owable Nan € loa kg
max.
17004.W0008 22 27 14 5 65.0 40 12 170 250
17004.W0012 26 31 16 6 87.5 65 15 210 300

locating pin head dimensions lo your own design / manufacture

- 3 determine the dimensions marked with an asterisk considering
~ a clearance sel between the workpiece and the locating guides.

i = when the taper angle is determined lo be smaller than 30°
hy (recommended) set the clearance smaller.
v .
i S
work locator h
model :

17004.WO0008 |12 or less
[17004.W0012[15 or less

és Wixroyd wixroyd.com

AN ESSENTRA COMPANY

12



Flanged Workpiece Locators

AN retractod

SUPPORTS & STOPS

17004.2

Material Piston: steel (SCM440), tempered and Ball knob: ABS resin, black.
Body: steel (S45C), tempered and black black oxide finish.
oxide finish. Handle: steel (S45C), black oxide finish.
Order No. h, h, d; d, d, d, dg dg d, dg Weight
tol. G6 tol. G7 g
17004.wW0108 48 12 60 34 20 28 8 20 46 M 5 420
17004.W0112 61 14 80 48 30 42 12 25 63 M 6 1040
Workpiece weight
Order No. dg hy h, hy he h, r,  Strokes, ‘llowable Ra”d'e load kg a
max.
17004.W0108 M 4x5 10 17 5 13 5 71 12 150 250 100°
17004.W0112 M 6x8 18 23 7 15 8 94 15 200 300 90°
r%;:o o;%,
retractad mode projected mode
o . s )
R Wixroyd 0333 207 4497 sales@wixroyd.com 13
AN ESSENTRA COMPANY



Compact Workpiece Supports

=
3
a
7 i
9
(=)
2 17005.1 a
4
Material oxide finish.
Body: steel (C45), black oxide finish.
Piston: steel (42CrMo), heat treated, black
Order No. h, h, d;y d, dy d, dg Iy I, Piston spring Stroke s, Support capacity A/F Weight
force kN g
N
17005.w0018 18 5 15 6 M8x1,25 16 M4xle 16 132 15~30 3 0,2 13 36
17005.w0022 22 6 19 8 M10x1,50 20 M5x20 20 163 1,8~3,0 4 0,3 17 72
17005.wW0025 25 6 22 10 M12x1,75 24 Mex25 24 223 1,8~3,0 4 04 19 150
)
o . . )
14 h‘i Wixroyd wixroyd.com
AN ESSENTRA COMPANY



Contact-Bolt Extensions

for workpiece support

d

SUPPORTS & STOPS

=% - 17005.2

g AF — ~— h1 —— |} —
Material
Steel (C45), tempered and black oxide
finish.
Order No. h, d, I Iy A/F Weight
g
17005.w0825 25 M 8x1,25 13 16 13 25
17005.w0832 32 M 8x1,25 13 16 13 35
17005.w0840 40 M 8x1,25 13 16 13 45
17005.W1032 25 M10x1,50 16 20 17 60
17005.W1050 32 M10x1,50 16 20 17 95
17005.W1075 40 M10x1,50 16 20 17 145
17005.W1232 25 M12x1,75 18 20 22 95
17005.W1250 32 M12x1,75 18 20 22 165
17005.W1275 40 M12x1,75 18 20 22 250

M Wixroud 0333 207 4497 sales@wixroyd.com 15

AN ESSENTRA COMPANY



Sd01S '8 S140ddNS

Cylindrical Workpiece Supports

hex. wrench

17008

by
-— - -
i -2 v
W‘ A ‘31
AR A
‘iﬁgf 1 e
A W5
s =2
air outlet U ls

cap screw thumb screw

Material cap screw style to offer high support capa-

Body: steel (C45), black oxide finish. cities.

Piston: steel (C45), tempered, black oxide .

finish Tips

’ When you attach a support tip to the
Technical Notes tapped hole through the shaft, tighten the
The positive locking mechanism allows the shaft and secure it to prevent damage.
Order No. Type h, h, d, d, d, d, Weight
g
17008.wW0033 Cap screw 33 22.0 28 14 - M 6x12 150
17008.wW0042 Cap screw 42 28.5 35 19 - M 8x16 300
17008.wW0050 Cap screw 50 34.0 42 22 - M10x20 540
17008.W0060 Cap screw 60 42.0 50 26 - M12x24 865
17008.wW0070 Cap screw 70 47.0 60 33 - M16x32 1390
17008.w0233 Thumb screw 33 22.0 28 14 24 M 6x12 185
17008.wW0242 Thumb screw 42 28.5 35 19 30 M 8x16 360
17008.W0250 Thumb screw 50 34.0 42 22 36 M10x20 620
17008.wW0260 Thumb screw 60 42.0 50 26 40 M12x24 1020
) . Support capacity Torque to
Order No. ds d I l, Piston spring foree stroke s, kN Nm AF
max. max.

17008.W0033 M 6x16 M 6 10 14.1 10~22 6 4.0 7.5 4
17008.wW0042 M 8x20 M8 15 18.8 10~27 10 6.0 14.0 5
17008.W0050 M10x25 M10 14 23.8 14~28 10 7.5 18.0 6
17008.W0060 M12x30 M12 17 28.5 15~30 10 9.0 22.0 8
17008.W0070 M12x30 M16 22 26.5 15~35 10 9.0 25.0 10
17008.W0233 M 6 M 6 10 22.7 10~22 6 0.6 1.0 4
17008.W0242 M 8 M 8 15 27.7 10~27 10 0.7 1.2 5
17008.W0250 M10 M10 14 31.8 14~28 10 0.7 1.5 6
17008.W0260 M12 M12 17 36.8 15~30 10 0.8 2.0 8

16

b.ﬁ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com




bﬂ Wixroyd

AN ESSENTRA COMPANY

0333 207 4497

sales@wixroyd.com

17

SUPPORTS & STOPS




Support Screws

Sd01S '8 S140ddNS

18420

\
1(13-'
Material
Steel, heat-treated.
Order No. d, d, d, I Iy R Weight
g

18420.W0001 12 28 M12 46 8 58 70
18420.W0002 16 34 M16 57 9 72 150

18 bﬂ Wixroyd

AN ESSENTRA COMPANY

wixroyd.com




